Equal 9 step grey scaling betweeh* g;n=—48.3 andL*y,\w=48.3, Ygrei=126.0, normalisation greyU
L*0anm—48.3,L*0au=0.0,L*0anw~48.4,Ypan=2.6, Y0a=18.0,Y0aw~126.0,Coay=Yoaw: Yoan=49.0
L*taN==2.7,L*1ay=0.0, L*tan=13.9,Y1an=16.1, ¥1ay=18.0, Y1an=31.5,Cay=Ytaw: Ytan=2.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* =100 AL* min] / [AL* max], L* TusinD1 = 40 / 1og(5) [ log (Y/Yy) ] with Y,=18

9*5: 1007 9*9: 100 9*5: 8, g*g: 5 g*5: 67, g*g: 49
L* TugyNnD1 intended output real output linearized output
n0.i L*0a L*Or YOa YOr : L*a Al*a L*r Yta (L*r) 1239 *a Al*a

50*09 484 10 1260 1.0: 139 1.0 315 1.0 13.9
: 5.3 25
8 363 0875 77.4 0607 86 0.682 254  0.852 11.4
: 3.9 2.3
25+ ()7 242 075 476 0365 4.6 0.446 21.7 0.713 9.1
3 2.8 2.1
6 121 0625 29.3 0216 1.9 0.28 194 0587 7.0
; 1.9 1.9
o+@>5 00 05 180 0125 00 0.168 18.0  0.474 5.1
i 1.2 1.7
@+ -120 0375 111 0069 -11 0.095 17.1  0.373 3.4
0.8 15
-25+ @3 -241 025 68 0034 -19 0.048 16.6  0.281 1.9
3 0.5 15
@2 362 0125 42 0013 -24 0.018 163  0.188 0.3
; 0.3 3.1
-50L @21 -483 00 26 00! -27 00 161 _ 0.0 -2.7

. : femtian- Yoait Y
*o = = i normalisation: Yigju=Yoay 0" Oref
AlrgF121  (=1.2,..8) | tail=Yoau g 22 el

eel51-7n



